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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer'the following question in 300 words. (Any One) [15]
a) Explain the effects of Renaissance Meyement,
b) Briefly explain the causes of Industrial Revelution.

02) Answer the following question in300*words. (Any One) [15]
a) Explain the consequences.ofithe Fifst World War.
b) State the contribution of ¥gsephMazzini and Count Cavour in unification
of Italy.

03) Answer the following questiotiin 200 words. (Any Two) [20]
a) Explain the importanc€.of Religious Reformation Movement.
b) Briefly explain the causes of Meiji Revolution in Japan.
c) Review the French - Perssian War of 1870.
d) Explain the reasons for the failure of the United Natigts.

Q4) Write a Short Notes 100 words. (Any Four) [20]
a) Meaning and features of Industrial Revolution;
b) Fall of Bastile 1789.
c) Declaration of the American War of Independence:
d) Paris peace conference.
e) Evaluation of the treaty of versailles.
f)  Communism.
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